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GENERAL INSTRUCTIONS:
1. This question paper contains 4 printed pages.
The Question Paper contains THREE sections-READING, GRAMMAR & WRITING

2.
and LITERATURE.
3. Attempt questions based on specific Instructions for each part.
SECTION A: READING SKILLS 10
Reading comprehenslon through Unseen Passage
Ql. Read the following text. 5
1 Nepal, a small, mountainous country tucked between India and China, may seem
completely foreign to many Americans. Cows walk down busy streets unharmed, 24
different languages are spoken, and people eat two meals of rice and lentils every day.-
Nepali holidays, many of which are related to the Hindu religion, can seem especially
bizarre to Americans unfamiliar with the culture. However, if we look beyond how others
celebrate to consider the things they are Celebrating, we find surprising similarities to our
own culture. ' '

2 | The biggest holiday in Nepal is Dashain, a ten-day‘j fesﬁi a or 1 hé iﬁ'u god%gwﬁrgg |
that takes place in September or October. Accorc ndu beliefs, Durga defeated the f f el
evil demons of the world. To thank the goddess, C|
colourful, homemade kites during Dashain. Peof
swings on street corners and in parks. Every ev
take turns swinging. Nepalis say that by swingin,
weight, if only for a few n‘iinutj,e_s,,:qut of the yea
food, relax, and enjoy themselves| e

3 | Aside from eating and enjoyin selve
from their elders. Sc hools a s shi
families. Reuniting ' ds p
forgiveness. P’ ofs
holidays in't he

clothes fc

S




forward o 8ood fortune and peace in the year to come.

During American holidays, people may not sacrifice goats or soar on bamboo swings, but
we do often travel to be with family members and take time off work or school to relax.
No matter how we celebrate, many people around the world spend their holidays
honouring family, reflecting on their blessings, and hoping for good fortune in the future.

As used in paragraph 1, bizarre most nearly means?

A. unbelievable
B. unknown

- awkward

D. strang

Both the colourful kites and bamboo swings are used as examples of? . 1

A. ways people relax and enjoy themselves during Dashain.
hings people honour and reflect on during Dashain.
C. offerings to the goddess Durga. .
D. ways people reunite with family during Dashain.

Which of the following sentences from the passage best indicates why the author thinks | 1
Nepal would seem very foreign to many Americans?

ﬁCows walk down busy streets unharmed, 24 ”
people eat two meals of rice and lentils every da

B. "Every eveniné, people gather at these swings and take turns swingi g

C. “People also clean and decorate their homes for D of

but we do often travel to be with family members and'

relax.”

The author suggests that although people in diffe
differently, one similarity is that many people?

4. ask for blessings from their elders during holida

8. agree that holidays reveal a lot about a culture

s must be celebrated
; nd with t helr |




B. Relax

£
C. Celebrate
\P fortune
Q2 Answer the following questions, based on the passage above. 5
1 The present generation is well updated in the use of Internet and computers. The rapid
development in computer technology and increase In accessibllity of the Internet for
academic purposes has changed the face of education for everyone assoclated with It.
Let’s look at the data arising out of a recent survey that was done to ascertain the time
spent on utilisation of the computer and internet.
0%
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~ compulerfor  computerfor:  usaemal? . hsamekllmlfof uselbl hiemet for
‘academic aclivites. - personalwse . work?: lalsure?
] _\,E:evetyday]ggcdayuweekamaweeknmnmonwl ‘ \
At present, many schools and universities have been implementing lnternet-based
2 learning, as it supplements the conventional teachmg methods. The Intern

wide variety of references and information to academics as
Students often turn to it to do their academic assignment

However, research on the Net is very different from trad
differences can cause problems. The Net is a tremendous
carefully and critically.

According to a 2018 Academic Student e-book Experience:;
research department and sponsored by EBSCO, when r
respondents said they preferred print books for leisure w
chose e-books rather than the printed versnonsﬂ— S

(57%); and allowmg content to be transferr

responses.

ACCOI’dIﬂgr ’ ge, one of the reasons fort anstormal
isthe: k.
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A. techno- efficiency of the present generation.

B. expanse of courses on technology,
C. simplification of the teaching and learnirg- method.

/' easy avallability of the Internet.

Internet-based education can only complement familiar methods of education. 2, Net-
based learning will replace face-to-face education, 3, The resources that the net provides
are a danger to the education system. 4, The current times has seen a rise in the
convenience of using the internet for academic purposes,

i C 2&3

2 Pick the option that lists statements that are NOT TRUE according to the passage. 1. 3l \
i

"D 18&4

B. 3&4
g The word ‘tremendous’, as used in paragraph 3, means the same as

[

A. ‘expensive’.
B. ‘renowned’.
C. ‘innovative’.
. ‘incredible’ ‘ ‘ _ o
4 / Based on the graphical chart in the passage, choose
depiction of internet usage for work and'fog.l :

e

s Work s Leisure

ption that correctly states the 1

(2)

A. Option (1)

- B._ Option (2)
/C/ Option (3)
D. Option (4) A
“... but it must be used carefully and crit

TION B -wnmN] SKILL &




GRAMMAR

Y-

ﬁ? /ff—#"p,m ANY TEN of twelve of the following tasks, as directed.
>
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ave Write subject and predicate)
| My gargw!@_;%_mf( j

Suk:lcs

P ' i t.: v
> 1 Elephants have a good memory.(Identify the given sentence) Cecloynt o
3. l The King and the prince sat comfortably.(Rewrite the sentence in 2 plural form)
Wil Sxrr%

We are going to meet the president

Write reflexive or emphatic pronouns

ECCEECEEN

[ 5 / Thereis a :vglf in the j_n:}ngle.l (Rewrite the sentence in a plural form)
a3€ i it ol - ls
L 6 I The father advised all his children to help Fill with reciprocal pronouns
CTe  Qresvev
~ L 7 The girl looked at enio in the mirror (Write reflexive or emphatic pronouns)
?99 18 Tihave -,Taocount in T‘r—é"State bank of India (Fill up with a,an,the) .
?3 ‘f 9 Ruhi and Sonashi like mvery much Fill with reciprocal pronouns
S T Chy,
o 9
X
; o 10 | We dined at —Hote] Taj yesterday.(Fill up with 3anthe)
o he —
-\‘ee;xx 11 | Madya Pradesh is ————staye in India.(Complete with Cor
f"“(\.\“s large) RS .
’(\@é\“' 12 | Kapil Devis one of ——bowlers in the world (Complete w
\C -4
o

comparisongreat ) .- -

o Q4A
Z Youarelivinginah“ﬁlwﬁtealettertoyourfaﬂlerrfk‘

more money this monthasyouwanttoenrollln‘ 2rso
" :
= .
}\Y L /
\ 'q4s.
Write a Letter to the editor regarding there
L of your colony .
L l SECTION C: LANGUAGE THROU
/ - Q5 | Answer ANY two of the following FOUR queStio“ V’f , in
-1 What were the warning signs that both Tilly and her 7 A
.2 Mention two things that are 1
(i) clear from the height,
(ii) not clear from the height,
3 (i) What materia) are the ‘strange’ huts made out of?

(it) Why does Velu find them strange?
————> YEluTind t}
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How did the Djinn know the horse was complaining agalnat the cameal? 2 :

Qs. ) Answer ANY ONE of the following THREE questions, In about 40-50 words, 1"3'3
1 Find three or four phrases In stanzas one and two which are llkely to occur In a Beography

[ lesson

/ 2 / The ant tells the cricket to

“dance the winter away", Do you think tha word ‘dance’ Is 2
appropriate here? If $0, why?

3 | When he felt the earthquake, do you think Igneslous Immediately worrled about a 2
tsunami? Give reasons for your answer. Which sentence In the text tells you that the
Ignesious family did not have any time to discuss and plan thelr course of action after the
tsunami struck? \ \
LQ 7 / Answer ANY ONE of the following TWO questions, In about 100-120 words. \ 1x6-?\
1 / How are Meghna and Almas’s storles simlilar? \5 \
SR Do you think Jaya Is a brave and sensitive child with a sense o

e of humour? Find Instances of |5
her courage, kind nature and humour In the text. =
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General Instructions:

1. Read the question paper carefully.

2. The question paper consists of five sections A,B,C,D,E

2. Section A has five mcq of one mark each and two assertion type questions.
3. Section B has three questions of two marks each.

4, Section C contains three questions of three marks each.

5. Section D Contains two questions of five marks each.
6. Section E contains two case based questions of four marks each.

SECTION A 1x7=7TM
II 1 | Identify the gas that is generally produced when coal is burnt in the presence of a lot of air. 1 ‘
, a) Carbon monoxide b) Sulphur dioxide. - o ia ]
’ Lo Nitrogen dioxide d) Carbon dloxlde A
I 2 | Two boys A and B are shown applying force on a block. If the 'block moves towards theright, |1
i which one of the following statements is correct? ' :

{2 The magnitude of force applied by A is greater than tha @’f’ l.
| (b) The magnitude of force applied by A is smaller than that of B.
(c) The net force on the block is towards A. -
(d) The magnitude of force applied by A is equal to tha

3 | What are the important steps il
a) Loosening and sowing




SRS = ea

Which of the followiii
a) Rice

c) soyabean

nd reasoning qu
the following
he correct choice as,
and reason are true and reason is the corré
are true but reason Is not the correct exp

estions

question, the statement of asse

Assertion @
Directions :In
reason. Mark t
a. Both assertion
b. Both assertion and reason
c. Assertion is true but reason is false.

1

d. Assertion is false but reason is true.

ct explanatio

compression of inorganic material over millions of years-
1

6 Assertion (A): Coalis a fossil fuel.

|
/
/ Reason(R) It is formed due to

re used to cut the vegetables.

ure.

ives a
ges exert moreé press

7§ Assertion(A) : Sharp kn
/ Reason(R) Sharp ed

SECTION B
ive examples of contact force-

n what is contact force? G

how fertilisers aré different from manure.

i
' 9 | Explain

fossil fuels & give some examples of it.

i 10 | Define
OR

ressure & state it's units.

| .| Definep

SECTION C

11 | What is meant by force and state the effe;» :

p—

s of petroleum anf:“

12 | Name three constituent

What is CNG? What are its uses?




SECTION D : 52010

! 14 | In the following situations identify the agent exerting the force and the object on which it 5
/ acts. State the effect of the force in each case.
j a) Squeezing a piece of lemon between fingers to extract its juice.
I b) Taking out paste from toothpaste tube.

¢) Aload suspended from a spring while its other end is on a hook fixed to a wall.

d) An athlete making a high jump to clear the bar at a certain height.

e) Aball of dough is rolled into a flat chapatti.

15 | Define the term agricultural practices and also state the important steps taken during crop 5
production.
- OR

Explain in detail the products of coal.

SECTIONE

A boy named Yash from Gwalior who studies in 8th standa
a small garden in the backyard. Where he’s planted man

So he went to the market and bought the best qua
back home, went to the backyard and planted the se
day passed he began to realise that the seeds he pl
unhealthy and very poor in i
solution. :
Q.1. Mention the tii
Q.2 Name the mett
Q.3 Why




s —

| Q.3 What are the disadvantages of fertilisers?

push the moving ball to their team mates to make a
returned to the other side of the court by pushing or

Inaga
winning move. Sometimes the bal| is
bat
s his or her shot by applying a force on the ball with the

smashing it. In cricket, a batsman play
bat.

Q.1. What kind of force is applied by a batsman on a ball while hitting it?

Q. 2. Define force. _ :
Q.3. In the given example of volleyball game, what changes force brought about on the

volleyball?
OR

Q.3. How do you describe state of motion?

:
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Subject- Social Sclence

GENERAL INSTRUCTIONS:

. This question Papesr comaing- 5 prirded pages,

This question paper has 19 questions in 21,

Marks are indicsted 2538 each question,

Cuestions from mrmmazwmaemnmm&m

question carries 1 mark. Answer them asinstructed.

Guestions from mmnbaliandnaezmmm

of these questions should not exceed 40 words each.

6. Questions from serial anuaeammma
these questions should not exceed €0 words each,

7. Cuestions from serizl mumwaesmmma‘ ’
these guestions should not exceed 100 words each,

2. Questions from seﬁalmuberl7toﬁ&reof4nhmhzd
questions, Each carries imark. -

9. Question numberlskmpmofzm'ﬂht-omEJﬁm

/ History & 15.2 from y. Each carries 1 mark

SwNw

w

1. | “A History of British Indiz”
(2) Nicholas Louis
(c) James 1Al

2. | Battle of Plassey took place in i

(21757
(c) 1760

3. How do you implement exclusl
(z) By patenting it
(c) By selling it to government a

4. | Asubstance or object beco
(2) features
(c) prices -

5. | Everyone Is equal before law.” "
(2) Right to Education |
{¢] Right to Equality

4 3
1.
i

6. are not allowed to celebrats
promote secularism.

(a) Private schools
(c) Madarsas




ROVAY par—=l

.| There are two state
'| answer as per the code provided below: o s factors that ca

-] ii.) A is wrong but R is correct

Assertion (A)- Time and technology are tw
substances into resources e people.
Reason (R) - Time and technology are related to the needs of the peop
People themselves are the most Important resource

1) Ais correct but R is wrong

\ili) Both A and R are true and R is the correct explanation of A.
iv.) Both A and R are true but R is not the correct explanation of A.

Doctrine of Lapse was introduced by
(a) Lord Canning (pf Lord Dalhousie
(c) Lord Clive (d) Lord Curzon

Which country didn’t allow non-Myslims to bulld their worshlp places?
(a) India s ) Saudi Arabia
(c) Pakistan (d) None of these

(a) Warren Hastings (b) Lord Mountbatteﬁ

Identify the picture from the options given below.

(c) Dalhousie (d) Curzon

SECTION B

VERY SHORT ANSWER QUESTIONS (2X2=4)

What is the problem with the perlodlsation of Indian history that James Mill 2
offers? 1

What is sustainable development? . B e, TR y 2
Why does a democratic country need a Constlt;utlo?

SECTION C

SHORT ANSWER BASED Q

13

How did the assumption of Diwani benefit the

What were the areas of conflict between the Ber
Company?

OR

In what way was the administration of the np
Indian rulers?




OR

Explain the system of ‘subsidiary alliance’.

Section E

CASE-BASED QUESTIONS (4X2-8 )

| @rose when these companies began vying for the same goods, such as high-

Read the source given below and answer the questions that follow:

In 1600, the East India Compan
England, granting it exclusive tr
English trading group could ¢
charter, the company embar
could acquire goods at low pri

y obtained a charter from Queen Elizabeth | of
ading rights in the East. This meant that no other
Ompete with the company. Empowered by the
ked on voyages to discover new lands where it
ces and sell them in Europe at higher prices. While
the charter protected the company from domestic competition, it couldn’t

prevent other European powers from entering Eastern markets.(liortuguese
explorers, led by Vasco da Gama, had already established their presence in
western India, and the Dutch and French soon followed suit.\ The challenge

quality cotton, silk, and spices like pepper, cloves, cardamom, and cinnamon.
Competition drove up prices, reducing profits for all. To thrive, the trading
companies resorted to eliminating rivals through battles, blockades, and seizing
trading posts. Trade became intertwined with armed conflict, leading to
fortifications and clashes with local rulers, The company struggled to separate

trade from politics in its pursuit of profitable markets.

What was the significance of the charter granted to the East India Company in

- 1600 by Queen Elizabeth I? ’
2. Who had already established their presence in western India by the time the
' English ships began sailing to the Indian Ocean?
3. | What were the goods that European trading companies, including the East India
Company, were interested in buying from India? .
4. | How did competition among the European trading companies affect the prices
of goods from India?
18

Mona and Raju were helping Amma to clean
things.... clothes, utensils, foodgrains, combs, th
of these has a use,” said Mona. “That is why th
“These are resources.....”. “What is a resource?
“Anything that can be used to satisfy a need is a
around you and observe, you will be able to Ic
The water you drink when you are thirsty,the
the rickshaw you use to get home from sch
are all resources. Your father has prepare
vegetables he has used are also a reso
vegetable and textbook have something in
you, so they have utility. Utility or usability

| @ resource. “How does sor ething becorr ‘
know. Amma told th en that thin her
A Sl (P - 5
‘Page3of4 *‘

.

Read the source given below and answer the questions that follow: i

aNAT

T C

yeh
2



o o oran

il B < S \
v
P
said Amma. Value means worth. Some resources have economic value, some do )/
not. For example, metals may have an economic value, a beautiful landscape
May not. But both are important and satisfy human needs.

What is resource?

What makes an object or substance aresource?
How does something become a resource?

: What is the Meaning of value? Give example.
[ 19 ]

pRPRP

Section F
[ | mapsxiL BASED QUESTION (1x2=2) =
1) Two places A and B have been marked on the given outline map of India. 1
Identify the marked location of territories under the British in 1857,

2) |Drawaneatand .:abeu!gggagza_@g@ﬂste,‘ ‘ R i AT |
LIz olor  Scap cobion R
+¢ ; £y oy I .

A . 3
3N Suvkey ¢ g Y.
f A : y f
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GENERAL INSTRUCTIONS :

. Please check that this question paper contains 3 printed pages.
. Please check that this question paper contains 19 questions.

- This Question Paper has 5 Sections A, B,C,DandE

Section A has 9 MCQs carrying 1 mark each

Section B has 4 questions carrying 02 marks each,

Section C has 3 questions carrying 03 marks each,

Section D has 2 questions carrying 05 marks each,

Section E has 1 case based integrated units of assessment (04 marks each) with sub
parts of the values of 1, 1 and 2 marks each respectively.

PNALN AL~

.I Choose the correct option from the given options. (1x9=9Marks

SECTION A

1)

The product of two rational numbers is always a

. 1
a) Integers <b)Rational Numbers  c¢) Natural Numbers  d) Whole Numbers

2)

Which of the following is a linear expression? , , : 1
a) X+2ty  b)yhy3 o4 i+

3)

=

Sum of all the exterior angles of a polygon is 1
2)180° 'b) 90° \o)¥360° d)0° ;

4)

x+0=0+x=x, where x i a rational number, then 0 isc
\a) additive identity b) multiplicative identity .
¢) reciprocal of x d) multiplicative inverse

5)

Ifz+3=5,thenz=_
a)2 b8 oI5 do

How many sides does an octagon have?
a)7 b)8 ¢9 d)10

7

2y (Ex2)= (3x)2
8) 3% \7X3 553/ 7

2

c);x
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DIRECTION: In the question number § and 9, a statement of Assertion (A) is followed

by statement of Reason (R). Choose the correct option,

8) | Statement A (Assertion): Rational Numbers gre commutative for multiplication.

Statement R (Reason): Rational
. l A L
e mbers are commutative under addition and

a) Both assertion (A) and :
of assertion (A) (A) and reason (R) are true and reason (R) is the correct explanation

b) Both assertion (A) and reason (R :
explanation of assertion (A) () &otlc bnd resdon (R)is the not the correct

¢) Assertion (A) is true but reason (R) is ‘false
|y Asseﬁion» (A) is false but reason (R) is true

9) | Statement A (Assertion): x+ 1= 0 is a linear equation,
Statement R (Reason); Highest power of variable = |

a) Both assert; i :
o assertione(A()m (A) and reason (R) are true and reason (R) is the correct explanation

b) Both assertion (A) and reason (R ;
explanation of assertion (A) (R) are true and reason (R) is the not the correct

¢) Assertion (A) is true but reason (R) is false
d) Assertion (A) is false but reason (R) is true -

[Q B T ) SECTION B . 7
-1I Solve the following. : (ZxMMarQ

10) | State whether True or False ' '
()All squares are thombuses and also rectangles.  (ii)All rectangles are squares. 2 J

™

11)| Solve the given equation: 8x +4=3 (x-1)+7
~ OR ' :

Express the following statements by linear equations. '

1)Thrice x plus 2 gives 11 ii)Half the number ¢ decreased by 12 is equal to 7.

12) Find the multiplicative inverse of -719 and additive inv,Je"rs'e.

13)| What is a regular polygon? State the names of a regular pols

Q.III Solve the following.
14) | Solve by reducing equations to simpler form and ¢

6x+1 x-3
il | =

6




19)

Find the vajyes ofx, y, zin

the following figure

OR
How many sides does 5 regular pol

ygon have if each of jts interior
is 165°?

'16)

Find the Value by using property: s X '75 " ‘1;1' + % x "73 ?

o SRS

SECTION D
Q.IV Solve the following,

St : (5x2=19 Marks) |
17) | The measures of two adjacent angles of a parallelogram are in the ratin 3 - 2. Find the
measure of each of the angles of the parallelogram. X }

18) | Simplify the following linear equations
| e ads <hare5=80-es) :
OR

Can a quadrilateral ABCD be a parallelogram if : é
() 4D+ /B=180" - g-‘

(i) AB=DC =8 cm, AD = 4 cm and BC = 4.4 cm?
L / (iii) 2A = 70°and £C= 657

!

?

L SECTIONE 23
Q.V Solve the following - :

19) Read the following passage and answer the following.

Ramesh makes a poster in the shape of a parallelogram on
the topic of save electricity for an inter school competition
as shown in the figure

(i) | IfBC = 18cm and AD = 3x, then find the value of x.

(i) | If AB =(2y-3) cm and CD = Scm, then what is the 1 ).

(it} Complete the statement along with property used.
()AD=_ (i) £LADC=

: OR
If ZA = (4x+3)° and £D = (53-3)", then find the valu
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